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Solving the formula
(part one) 
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Schematic representation of a demographic model 
of an animal population
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N = 
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N t+1      =               P n × N t

syP = ps
b

ss pa
0

0

00
×

Y
S
A

N = 



One Health: Connecting Humans, Animals and the Environment University of Basel 8

N t+1      =               P n × N t Result after 20 – 30 iterations

P n =  λn
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Y = 50'000

S = 20'000

A = 40'000

b = 60%  = 0.6

sy = 70%  = 0.7

ps = 50%  = 0.5

ss = 60%  = 0.6

pa = 65%  = 0.65
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0.6 × 40'000 = 24'000
(0.7 × 50'000) + (0.5 × 20'000) = 45'000
(0.6 × 20'000) + (0.65 × 40'000) = 38'000

(0 x Y ) + (0 × S) + (b x A)
(sy × Y) + (ps × S) + (0 x A)
(0 × Y) + (ss × S) + (pa × A)


